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1Import numpy as np

> {1

# 1 ol S D VERL
a =np.array([1, 2, 3] )

# 2 TR HI DR,
b =np.array([ [1, 2, 3], [4, 5, 6] )

# MBI OES % K3 (arange)
np.arange( 1, 11)

Out >>> array([1, 2, 3, 4, 5,6, 7, 8,9, 10] )
np.arange( 1, 11, 2)

Out >>> array([1, 3, 5, 7, 9])
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1mport pandas as pd

> {1

#1oeT —% OFH
ser = pd.Series( [10, 20, 30, 40] )
ser

# 2 WoLT — & OFH

df = pd.DataFrame( [10, “a”, True],
[20, “b”, Falsel,
[30, “c”, Falsel,
[40, “d”, True] )

df
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2 69 50
3 7 72
4 56 82
5 63 76
6 53 49
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20 58 32
21 86 55
22 37 63
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import pandas as pd

# testScore.csv D FiHIAL
col_names = ['$r7", 958

data = pd.read_csv('testScore.csv', names = col_names, encoding='"SHIFT-JIS")

# 5 155 DN % HERR
data.head()

# BEORT— X w5
data[%%5]
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%matplotlib inline
import matplotlib.pyplot as plt
import pandas as pd

# testScore.csv D FHiArIAIx

nameColumns = ['$%", '925E']

testData = pd.read_csv('testScore.csv', header = None, skiprows=1, names =
nameColumns, encoding="SHIFT-JIS")

# ABEBICEENDIEREHAD
hist = [0]*10

for data in testDatal' %%

if int(data) < 10: hist[0]

elif int(data) < 20: hist[

elif int(data) < 30: hist[

elif int(data) < 40: hist[

[
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elif int(data) < 50: hist
elif int(data) < 60: hist
elif int(data) < 70: hist
elif int(data) < 80: hist
elif int(data) < 90: hist[8] +=1

elif int(data) <= 100: hist[9] +=1
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print(E4, hist)

# R
x = list(range(1, 11)) # x shoofl
labels = ['0~', '10~', '20~', '30~', '40~', '50~', '60~', '70~', '80~', '90~']

#x O HKY 7L
plt.bar(x, hist, tick_label=labels, width=1) # W7 T 7 A
plt.show()
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import pandas as pd
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# testScore.csv @ g A b A

dat = pd.read_csv{'testScore.csv', encoding="SHIFT-IS')

import pandas as pd

IMpPort AUmMpy as np

# restScore.csv 7 G o ik

dat = pd.read_csv('testScore.csv’, encoding="SHIFT-JIS'}

# PRk 3

prine( P, np D (dacl ## 1))

# i b A

print! 1 ULHE", np.2 (dac["857]0 )

# SR Rk &
sameCount = np.bincount{dac["8°%] ) # [l LA el 4 & B 2 &
mode = np.argmax(sameCount) # sameCount DTl H A Z i & LG

print{"E ", mode)
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%% matplotlib inline
import matplotlib.pvplot as plt
import pandas as pd

import numpy as np

# testScore.csv O g0 A oA &
nameColumns = ["${7", 9555
testData = pd.read_csv('testScore2.csv', header = None, skiprows=1, names =

nameColumns, encoding="SHIFT-]J15'}

print("# - "
print("F¥ * ", npl) (testDatal"#°7'1))
print('437 2 np 20 (restDaral'#05'])
printCEIHER# ¢ ', np @ (testData['#7' 1))
print( HEEE e "

print("FE] 2", np.@ (testDara[' 355']))
print("53f : ', np.@ (testDara[' 355']))
print(EEHERE , np. @ (testDarta['#58]))
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== def deviation_value(score, heikin, hvoujvunhensa J:

return (score - heikin) / hvoujyunhensa * 10 + 50
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